| 2 | 3 | 4 ) | 6 | 7 | 8

39.50

REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11' T
BF
W,/ SR ®6.5
W,/0 SR $3.0~80.0
aF
NOTES:
45-0& 1. PART NUMBER CODE:
DS1047—-02 — 08 X X X
20.60 \ - -
T—SR Support
S W/ SR
S v X: W/0 SR
Packing type
1: Mix packing
Z: Separation packing
Cowvar Material
702 M: Metal(Znic alloy)
! Fositions
=" i 09: 9pin
| ey |

15100

24.99

31.60

15.20

BOM LIST
ITEM | PART NARE Tty | NOTES
1 | SCREW M2.5%8 | 1 | M2.5
2 | METAL HOOD—1| 1 | Znic dlloy
3 | SCREW MZ5%6 | 2 | M2.5
4 | WASHER 1
5 | SR 1
8 | STRAM RELIEF | T GENERAL TOLERANCE| ANGLE TOLERANCE
7 | BoT 2 | UNC 4-40 PROJECTION | &€ | TITLE | D—5UB 9pin Matal Hoods
_ Angl I |
3 LATCH_1 1 X, +0.60 X, 45 UNITS mm Large Angled Cable Qutlet
g | LATCH—2 1 X +0.38 P SHEET SIZE Ad SERIES | DS1047-02 SERIES
10 | METAL HDOD—2] 1 | Znic alloy XX 1025 XX 1o
SRAWING TVFE [COSTONER All [(ONnnectars
SCALE 1:1  [SHEET [ 1 OF 1 wwwall tors.eu | infoiall tors.eu
DRAWING NO C-D51 G47_02_09xxx Tel, +48 (0)711 / 358 110 20 | Fax +49 (0)711 / 358 110 25
l 2 ' 3 ' 4 | 5 B l 7 l 8




1 [ 2 [ 3 [ 4 ) | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11' N
2F
W/ SR #6.5
TPEA WO SR | 93.0~90.5
W/ SR 29.0
TPED W/0 SR |uB.E~d12.5
NOTES:
S 1. PART NUMBER CODE:
0, DS1047-02 = 15 XXX X
4330 ’ | SR Support
T ) S W/ SR
: X W/0 SR
X ! Type Support
7 A Type A
B: Type B
g DIN4702 : Packing type
5 1: Mix packing
\ 2: Separation packing
. Cover Material
Y M: Metal(Znic alloy)
A d) Positions
so0aa 15: 15pin
33.32
40.00
TYPE A BOM LIST TYPEB BOM LIST
ITEM | PART NAME Tty | NOTES ITEM | PART NAME Gty | NOTES
1 | SCREW LEE 1| SCREW 3 | M
2 METAL HOOD—1] 1 Znic alloy Z METAL HOOD-1] 1 Znic allay
5TWASHR T 1 5T WiASHER 1 GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION | @€} [TITLE] D-SUB 15pin Matal Hoods
—T=m : R R X, +0.60 X, 45 UNITS mm Large Angled Cable Qutlet
E | STRAIN RELIEF | 1 5 | BOLT 7 | UNC 440 X +0.38 X 17 SHEET SIZE Ad SERIES | DS1047-02 SERIES
7 | BOLT 2 JUNC 440 7 | LATCH-1 1 XX +0.75 XX +2
& | LATCH—1 1 8 | LATCH=2 1 I
9 | LATCH—2 1 9 | METAL HOOD=2[ 1 [Znic alloy DRAWING TYPE |COSTOMER A l l J l l l IEC tD rS
10 | METAL HOOD—2] 1 | Znfe allay SCALE 1:1 |SHEET | 10F1 www.all tors.eu | infoiall tors.eu
DRAWING NO C_Ds1047_02_1 SXXMX Tel, +48 (0)711 / 358 110 20 | Fax +49 (0)711 / 358 110 25
1 l 2 ' 3 ' 4 | 5 B l 7 l 8




o

l 6

| 7 [ g

DESCRIPTION

DRAWN CHECKED APPROVED

A NEW RELEASE YCH 03/22/11' N

2F

TPE A |_W/ SR 28

W/0 SR | @3.0~08.5

W/ SR 20.0

TPEE W/0 SR |#8.5~812.5

NCOTES:
1. PART NUMBER CODE:
05104702 — 25 WA WK
Tsgr Support
S SR
W W /0 SR
Typs Suppert
A Typa A
B: Type B
Packing typs
1: Mix packing
2: Separation packing
Cover Moterial
Wi Metal{Znic alloy)
Fesiticns

25: 25pin

47.50

25.00
47.04

53,70

15,30

TYPE &4 BOM LIST TYPE B BOM LIST
ITEM | PART NAME Tty | NOTES ITEM | PART NAME Gty | NOTES
1 SCREW 3 M3 1 SCREW 3 M3
2 | METAL HOOD-=1] 1 Znic alloy 2 | METAL HOOD-1] 1 Znic dllay
i cﬁ".\;TESRHEDEUF\;'I'I I ; i ;\f:SHER 1 GENERAL TOLERANCE| ANGLE TOLERANCE |PRQJECTION @—E} TITLE | D—SUB 2Spin Matal Hoods
—T=m : R R X, +0.60 X, 45 UNITS mm Large Angled Cable Qutlet
E | STRAIN RELIEF | 1 5 | BOLT 7 | UNC 440 X +0.38 X 17 SHEET SIZE Ad SERIES | DS1047-02 SERIES
7 | BOLT 2 [ UNC 440 7 | LATCH-1 1 XX +0.725 XX 2
& | LATCH—1 i & | LATGH-2 1 I
g | LATCH—2 1 9 | METAL HOOD=2] 1 | Znic alloy DRAWING TYPE |COSTOMER A l l J l l l IEC tD rS
10 | METAL HOOD—3| 1 | Znis alley SCALE 1:1 |SHEET | 10F1 wWw. tors.eu | infoiall tors.eu
DRAWING NO C-D51 047_02_25xxxx Tel, +48 (0)711 / 358 110 20 | Fax +49 (0)711 / 358 110 25
1 l 2 ' 3 ' 4 | 5 B l 7 l 8




1 | 2 | 3 | 4 S | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A NEW RELEASE YCH 03/22/11' T
2F
W,/ SR Lid
TYPE A W/0 SR | 93.0~812.0
W,/ =R 211.5
TYPEB W/O SHO[@12.0215.0 NOTES-
1. PART NUMBER CODE:
0S1047-02 — 37 KWWK
TgR Support
S SR
W W0 SR
Typs Suppert
- A Type A
’\‘ B: Type B
Packing typs
1: Mix packing
! 2: Separation packing
Cover Moterial
Wi Metal{Znic alloy)
Fesiticns
g 37: 37pin
3 -
] [
TYPE A BOM LIST TYPE B BOM LIST
ITEM | PART MAME Oty NOTES ITEM | PART MAME O'ty NOTES
1 | SCREW 4 | M3 1 | SCREW 4 b3
& | METAL HOGD—1] A Znic alloy 2 | METAL HOOD—1] A Znic alloy
I | WASHER i 3| WASHER i
4 2 4 | R i
= C';E;E REDUCTICN PLATE ] = STRAT FELIEF ] GENERAL TOLERANCE| ANGLE TOLERANCE PRQJECTION @—G» TITLE D-SUB 37pin Matal Hoods
6 | STRAIN RELIEF | 1 & |BoLT Z | Unc 4—40 X. +0.60 X, +5° UNITS mm Large Angled Cable Qutlet
7 | BALT 2 | UNC 4—40 7| LATCH-1 1 X +0.38 X +F SHEET SIZE Ad SERIES | DS1047-02 SERIES
& | LATCH—1 i g6 | LATCH=-2 1 XX 10.25 XX +2
& | LATGH—2 1 & | METAL HOOD—2| 1 | Znic allay : : : A l l t
70 | METAL io0D—2] 1| Zrie allay DRAWING TYPE [COSTOMER JINMNecoors
SCALE 1:1 |SHEET [ 1 OF 1 www.all tors.eu | infodiall tors.eu
DRAWING NO C-D51 047_02_37xxxx Tel, +48 (0)711 / 358 110 20 | Fax +49 (0)711 / 358 110 25
1 l 2 ' 3 ' 4 | 5 B l 7 l 8






